BANKING AND FINANCIAL MANAGEMENT

First Paper- (Project Planning and Budgetory Control )
'Time allowed : Three hours Maximum Makes: 100
Part-A (MF-31) . K
What is proect indentification ? 9RETT SRR =1 §-2
What is proect feasibility analysis ? TRES Sredy fvamo = @ ?
What is ‘Zero’ Base Budgeting ? ‘Y[’ S9R 951 18 ?
What is Project Location ? TREISHT < 31 94 SIR1T € ?
What is task force organisation ? i 56 SISH. 71 € ?
~Name the two qualities of project Manager” |
qRES JE4 % Q70 Saigd | ‘
Narrate any two merits of pay-back-period method.
g ety fafl % g < IO e |
Write the formula of ‘Capacity Ration” a1 3gura =1 Y1 feifed |
Write the formula of labour idle time variance. .
o wrEH g R g At
10.  What is budget repdrt?/eioie Sfeie F1 g ?
. Part-B (WPT-9)
{1. - What are the-wdysof motivating a project team ?

T qRAS e i AT FA FFNAAHE ?
12. India Motor.is considering the purchase of a machine. Two machines

X and\Y are available, each costing Rs.1,00,000. Earning after tax
| but before depreciation are epected to be as follows :

DR LN -

~

© %

Year Cash Inflows
Machine ‘X’ Machine ‘Y’
. 1 25,000 12,500
2 37,500 37,500
3 50,000 50,000
4 25,000 37,500
5 12,500 25,000

e

Scanned by CamScanner



Evaluate the two alternative accodin “Pay Back Method'
. _ g to ‘Pay Back Method’.
F%m'ﬁa.@’mﬂmwmﬁﬁnm@%n SR § Q) 7EiA
T’ 3R o8 ' YT € | Wi ki AP 1,00,000 & § | T GYER,

forg & g it o7dftra oo s YR E
| aw . Ugaaale
I X RTY’

1 25,000 12,500
2 37,500 37,500
3 50,000 50,000
4 25,000 - 37,500
5 12,500 25,000

* sTertt srafty fafer g A foreedl ohl HeiaA it |
13. Explain the advantag of ‘Public Deposits’. | -
‘5 T8l 3 @ wad |
14. at do you mean by ‘Master Budget'.
— 'uR=R o’ | 37T F THH ¢ |
15 From te following information calculate the'fegression equation y
onx: ‘ |
Sx =30, Ty =40, Txy =214, X§ =220, 2y? = 350, N =5
Prafafaad gEaT 8y Fx | TSRO <t IO e
Sx = 30, Ty =40, Txy = 244, 25° = 220, 2y? =350, N=5
Part-G.( ¥F-8) h
16. What do mean by marginal costing ?
i AT ferfr = 3R SRR ?
The followin budget has ben prepare
the home markety The possibilities in

d at 70% production level for
foreign market are to be ex-

_ plored. _
T oo 9N o470 v SeaTed TR R e e s T ¥ ) Rt
| SR EEeTsl Y T S € | .
Units , .o 42,000
Materials o 2,10,000
Wage 1,26,000
Overhead :: Fixed 70,000 -
Variable . 21,000
; 4,27.000
The selling price in India is Rs. 15. In the Far-East abou 6,000 units
may be sold at Rs. 10 and in addition 25 paise per unit will be
expended as freight etc. : _
Do you advise the trying for market in the Far-East ?
. q F A I 15 T E | gX-Td & T 6,000 SHIEAN 10 %, ATA
it o wEdt € qen e gt 25 ¥ v TR T A REIEAE |
1 39 G- ¥ AR H YO HH B e ] 2
OR

Discuss the relative merits of the various types of securities available
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17.

18.

to a company fo raising finance.
@W#%Qﬁﬂmaﬂ% Wﬁﬁﬁmiﬁﬂﬁ‘iﬁ@fa‘
TS Tl <kt fed=mm =i
The following informations is known for a project :
T WIS & YC IAE :
Activity Duration
E3 3aty
1-2 20
1-3 25
2-3 10
2-4 ' 12
34 6
4-5 | 10
Calculate the following :

{) Network diagram of the project.

(i) Critical Path ;
(iii) Free, total and mdependent flodats of each activity.

3% G 1 o FRE

(i) qiREerH 1 93 fo;

(i) —THUY;

(iii) f‘aﬁqﬁmﬁaﬁaaﬁ@a aaaﬁmaiaa'ﬂaqaﬁml

What is meant by Ploughmg Back of Profits ’? Discuss the
significance from.the point of view of company , shareholders and
society. w&ﬁ%yﬁ%@m'ﬁwaﬂw 2 FO, Sy aun
T aér Tf® § gaan-suaiiial &t fae=a Sifsa |

X Ltd. producés/two commodities, ‘Raju’ and ‘Rani’. Each unit
taken 5 hoursyand 10 hours as producl;lon time, respecuvely Actual

. output of Raja is 1,000 unit and Rani is 600 units.-Actual time taken

was\10,000 hours while budgeted was 8,000 hours only. Calculate
control ratios.

- fofes < awgsil ‘TS’ W T 1 Sae et € | W & Fmior |

ThAST: 5 TU TS 10 HU T IURA TF AT | TS 1 1000 THigal
TS T ShT 600 3hI3A1 1 ST T T fored arafass |99 10,000
HUS T oIk Ioies WHY el 8 oooqvif?ﬂmlﬁﬁﬁﬁﬂmam

! AT FIfST |
OR

What do you mean by .the term ‘Budgetary Control’ ? List the

advantage of a good budgetary control system to an organisation.
"o AN W W AT P GG € 2 TF WA H 7=t o i
Tl % STl 1 oI it |
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